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LHC: What next? 
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OK	
  in	
  the	
  lab…	
  
Not	
  in	
  the	
  universe…	
  

Experimental	
  evidence!	
  



Experimental	
  evidence!	
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Leptons	
  are	
  fundamental	
  par0cles	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Hadrons	
  are	
  not	
  fundamental	
  	
  
	
  
	
  
	
  
	
  
In	
  a	
  lepton	
  beam	
  of	
  known	
  energy,	
  each	
  par0cle	
  has	
  its	
  energy	
  
	
  
	
  
	
  
In	
  a	
  hadron	
  beam	
  each	
  hadron’s	
  energy	
  is	
  shared	
  out	
  between	
  its	
  
cons0tuent	
  par0cles	
  in	
  a	
  constantly	
  changing	
  way	
  
	
  



The	
  two	
  types	
  of	
  machine	
  compliment	
  each	
  other:	
  
	
  
	
  
Hadron	
  colliders	
  are	
  useful	
  for	
  discovering	
  new	
  
physics	
  or	
  searching	
  for	
  new	
  par0cles	
  as	
  they	
  explore	
  
a	
  wide	
  range	
  of	
  collision	
  energies	
  with	
  one	
  beam	
  
energy.	
  	
  
	
  
Lepton	
  machines	
  can	
  be	
  used	
  for	
  precision	
  
measurements	
  of	
  par0cles	
  aBer	
  their	
  discovery.	
  
	
  



For	
  example,	
  the	
  W	
  and	
  Z	
  par0cles	
  were	
  
discovered	
  in	
  CERN’s	
  SPS	
  synchrotron	
  by	
  colliding	
  
protons	
  and	
  an0protons.	
  The	
  LEP	
  collider	
  was	
  
then	
  built	
  to	
  measure	
  the	
  Z	
  mass	
  to	
  very	
  high	
  
precision	
  by	
  colliding	
  electrons	
  and	
  positrons	
  at	
  
precisely	
  the	
  rest	
  energy	
  of	
  the	
  Z.	
  



The	
  total	
  power	
  radiated	
  by	
  a	
  
par0cle	
  of	
  energy	
  E	
  ≫	
  mc2	
  is	
  
equal	
  to:	
  



…So	
  the	
  loss	
  rate	
  for	
  the	
  electron	
  is	
  
(97833/54)4	
  or	
  over	
  1013	
  0mes	
  the	
  
loss	
  for	
  a	
  proton	
  of	
  the	
  same	
  energy	
  
in	
  the	
  same	
  accelerator…	
  



















	
  	
  

São	
  horas	
  de	
  embalar	
  as	
  trouxas	
  
É	
  tarde	
  oh	
  Tia	
  Maria	
  
Por	
  esses	
  campos	
  fora	
  	
  
Vamos	
  lá	
  saindo....	
  	
  

Canção	
  dos	
  camponeses	
  	
  do	
  Alentejo	
  


